EXCHANGE RATES
Pearson Edexcel - Specimen Papers Set 1 - Paper 2 (Calculator) Higher Tier
1.
[image: ]


Pearson Edexcel - Sample Paper 3 - (Calculator) Higher Tier
2.
[image: Text, letter

Description automatically generated]


Pearson Edexcel - Friday 7 November 2014 - Paper 2 (Calculator) Higher Tier
3.
[image: Text, letter

Description automatically generated]



Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier
4.
[image: Graphical user interface, text, application, email

Description automatically generated]




Pearson Edexcel - Thursday 8 November 2012 - Paper 2 (Calculator) Higher Tier
5.
[image: Graphical user interface, text, application

Description automatically generated]



Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier
6.
[image: Text, letter

Description automatically generated]







Pearson Edexcel - Monday 5 March 2012 - Paper 4 (Calculator) Higher Tier
7.
[image: Text, letter

Description automatically generated]


Pearson Edexcel - Monday 14 November 2011 - Paper 4 (Calculator) Higher Tier
8.
[image: Text, letter

Description automatically generated]





Pearson Edexcel - Friday 11 June 2010 - Paper 4 (Calculator) Higher Tier
9.
[image: Graphical user interface, text, application

Description automatically generated]
10.
image6.png
(Total for Question 9 s 3 marks)





image7.png
3. Rosioand Fm 250 going on holiday to the USA.

i changes £35 nt dolars (5).

(@) Work out how many dolas (5 Jim gt

e USA Rsic s some jeans cosing S67

I London the same make o jeans costs £47.50

R FCE

(8) Work ot he diffrcnce bewesn th cot ofthe e inthe USA and in London.
Giveyour anowe i pounds (5.

(Total S marks)
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9. The exchange rate in London s £1 = €114
The exchange e i Pais s €1 = £0.56

Elsine wanis 0 change some pounds o urs.

I which of these ciss woukd lin gt the most euros?
o st show sl of you working.

(Total 3 marks)
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3. In August 2008, Eddie hired a ca i laly.

“Thecostof iing the ar vas €620
The exchange e was €1 = €125

(9 Werk ot the cos f ring the car i eeus (.

Edie bougpt somepetume in Ll

“Thecost ofthe perfume in Ty was €50
“Thecost o e Samepartume in Londen s 42

The exchange e was sl £1 = €125

(8) Work out e ifrence bt th cost o the parume ity and hacost of the

partume in Lonon.
Give your e n pouncs 9.
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2 Three companies sell the same type of fumiture.

‘The price of the furniture from Pooles of London is £1480
‘The price of the furniture from Jardins of Paris is €1980
‘The price of the furniture from Outways of New York is $2250

The exchange rates are
£1-€134
£1=51.52

‘Which company sells this furniture at the lowest price?
‘You must show how you get your answer.

(Total for Question 2 is 3 marks)
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2 Asifis going on holiday to Tukey.
The exchange rate i £1 = 3.5601 ia.
Asif changes £50 o ira.

(@) Wk out b many ia b shonld et
Gire your amswer to the nearstira.

Asifsoe i of dhoes in Trkey:
The shoss cost 20 .

Asifdoss ot e a caleditor.
‘e uses £2= 7l o ork outthe spproximate cost o he shoes in pounds.

) Use £2.=7 I o shor that the approrinsste cost ofthe shos i £60

@
(Total for Question 2is § marks)
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6 Margaret s on holiday in France.
‘e buys a2 English nevspaper
The cost o henemspaper s S uros.
In Engln. th conof the sz nevspaper s £250

The exchange e £1

ok out the iffeence beosen h cos f th neapapes i Frace snd e coxt
of th newspape n England.

-

(otalfor Question 6 is 3 marks)




image4.png
5 Ben goes on holiday to Hong Kong.

In Hong Kong, Ben sees a camera costing HKS3179.55
In London, an identical camera costs £285

The exchange rae is £1 = HKS1230

Ben buys the camera in Hong Kong.
How much cheaper is the camera in Hong Kong than in London?
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1 the USA. petel cost 315 dollar per US gallon.

1US gallon = 379 lis
1= 147 dollars

Wasperol cheaper i the UK or i the USA?

(Total for Question 10 s 4 marks)





